1. APPLICATION FEES	MSc Application - 1st Round MSc Application - 2nd Round		70.00 € 100.00 €	
	MSc Application - 3rd Round		200.00€	
2. ENROLLMENT & REGISTRATION FEES	Enrollment fee (paid in advance): includes registration fee for the 1st year (€330,00) and part of the tuition fee for the 1st month (€215,00)		545.00€	
	<u>Registration fee includes Insurance and Student ID card</u> : Annual registration fee		330.00€	(*)
		Monthly value per ECTS	Month	y fee
		(on a semestral basis)	1st Year	2nd Year
	<u>MSc in Economics</u> a) Students admitted in 2016/2017 (monthly standard # of ECTS: 30)	17.76€	532.80 € (10 months)	532.80 € (5 months)
	Students admitted in 2016/2017: additional semester (monthly standard # of ECTS: 17)	17.76€		301.92 € (5 months)
	a) Students admitted in 2015/2016: 1st semester (monthly standard # of ECTS: 30)	17.76€		532.80 € (5 months)
	Students admitted in 2015/2016: additional semester (monthly standard # of ECTS: 17)	17.76€		301.92 € (5 months)
	a) Students admitted before 2015/2016 (monthly standard # of ECTS: 30)	14.15€		424.50 € (5 months)
	Joint Master Degree in Economics (Louvain), Double Degree in Economics (BI)			
	a) Students admitted in 2016/2017 or 2015/2016 (monthly standard # of ECTS: 30)	16.65€	499.50 € (10 months)	499.50 € (10 months)
	a) Students admitted before 2015/2016 (monthly standard # of ECTS: 30)	15.80 €		474.00 € (10 months)
	International MSc in Management			
3. TUITION FEES	b) Students admitted in 2016/2017 (monthly standard # of ECTS: 30)	21.11€	633.30 € (10 months)	633.30 € (5 months)
	Students admitted in 2016/2017: additional semester (monthly standard # of ECTS: 19) b) Students admitted in 2015/2016: 1st semester (monthly standard # of ECTS: 30)	21.11 € 21.11 €		401.09 € (5 months)
	Students admitted in 2015/2016: additional semester (monthly standard # of ECTS: 19)	21.11€		633.30 € (5 months) 401.09 € (5 months)
	b) Students admitted before 2015/2016 (monthly standard # of ECTS: 2nd year 27)	17.10 €		461.70 € (5 months)
	MSc in Management			
	b) Students admitted before 2015/2016 (monthly standard # of ECTS: 33)	17.10€		564.30 € (5 months)
	MSc in Business; MSc in Management with specialization	10.00		
	b) Students admitted in 2016/2017 (monthly standard # of ECTS: 30) Students admitted in 2016/2017: additional semester (monthly standard # of ECTS: 20)	19.98 € 19.98 €	599.40 € (10 months)	599.40 € (5 months)
	b) Students admitted in 2015/2017. additional semester (monthly standard # of ECTS: 20)	19.98 €		399.60 € (5 months) 599.40 € (5 months)
	Students admitted in 2015/2016: additional semester (monthly standard # of ECTS: 20)	19.98 €		399.60 € (5 months)

		Monthly value per ECTS	Month	ly fee
		(on a semestral basis)	1st Year	2nd Year
	International MSc in Finance	10.00 C		
	b) Students admitted in 2015/2016 (monthly standard # ECTS: 2nd year 27)	18.32€		494.64 € (10 months)
	b) Students admitted before 2015/2016 (monthly standard # ECTS: 2nd year 27)	18.30€		494.10 € (5 months)
	MSc in Finance			
	b) Students admitted in 2016/2017 (monthly standard # of ECTS: 30)	19.98 €	599.40 € (10 months)	599.40 € (5 months)
	Students admitted in 2016/2017: additional semester (monthly standard # of ECTS: 20)	19.98 €		399.60 € (5 months)
	b) Students admitted in 2015/2016 (monthly standard # of ECTS: 33)	18.16 €		599.28 € (5 months)
	b) Students admitted before 2015/2016 (monthly standard # of ECTS: 33)	18.30 €		603.90 € (5 months)
3. TUITION FEES				
	Double Degree in Management (except FGV) or in Finance	04 50 6		
	 b) Students admitted in 2016/2017 or 2015/2016 (monthly standard # of ECTS: 30) b) Students admitted before 2015/2016 (monthly standard # of ECTS: 30) 	21.50 € 20.80 €	645.00 € (10 months)	645.00 € (10 months)
	b) Students admitted before 2013/2010 (monting standard # of EC13. 30)	20.00 €		624.00 € (5 months)
	Double Degree in Management (International MSc or MSc with specialization) - FGV			
	b) Students admitted in 2016/2017 or 2015/2016 (monthly standard # of ECTS: 40)	21.50 €	860.00 € (10 months)	860.00 € (5 months)
	International Triangle in Business Administration	21.11€		
	 b) Students admitted in 2015/2016 (monthly standard # of ECTS: 30) b) Students admitted before 2015/2016 (monthly standard # of ECTS: 2nd year 27) 	19.65€		633.30 € (5 months) 530.55 € (5 months)
	b) Students admitted before $2015/2010$ (monthly standard # of EC13. 2nd year 21)	19.05 €		550.55 E (5 monuns)
	Final certificate	180.00€	C	
4. DIPLOMA & CERTIFICATE FEES	Diploma	90.00€	c	
	Transcript	40.00 €	c	
	Formal request	6.60€	C)	

5. PENALTY FEES	Penalty for late payment of annual registration fee (up to 1 week) Penalty for late payment of annual registration fee (beyond 1 week) Penalty for late payment of monthly tuition fees or other fees (per month) Penalty fee for delayed thesis (each time an existing thesis deadline is postponed) Repetition of examination to complete the MSc Program Penalty fee for late course enrollment or course change (up to 5 working days after deadline) Penalty fee for late course enrollment or course change (beyond 5 working days after deadline) Penalty fee for late course enrollment or semester Exchange program (after application deadline) Penalty for withdrawal from a semester Exchange program (after application deadline) Penalty for withdrawal from a semester Exchange program (after application deadline) for the purpose of enrolling in a Free Mover program Penalty for withdrawal from a Double Degree or Joint Degree program (after admission acceptance)	+ 20% + 100% + 10% 165.00 € 165.00 € 28.00 € / day 142.50 € 300.00 € 300.00 €	(*)(1) (*)		
6. CHANGE OF MSc PROGRAM AND TUITION FEES	If students ever wish to change from the Double Degree, Joint Degree or MSc program they are enrolled in to another MSc program, they must make a Special Request through their personal area (e-SCA) as soon as possible (i) for this request to be duly analyzed by the Academic Direction of the MSc program they wish to join. (i) ideally before the end of the first semester of the program, so that expected program duration might be kept if possible. In the event of a positive answer from the Academic Direction, monthly tuition fees will be revised (according to the new MSc program tuition fees): - <u>in the case of a change from Double Degree or Joint Degree to MSc program</u> : after the end of the semester students are enrolled in; - <u>in the case of a change from MSc to another MSc program</u> : in the month after program change authorization was given. Please note that: - there shall be no retroactive financial adjustments of any kind [tuition fees and/or scholarship related discount] (ii), even if and when monthly tuition fees of the new program are lower than the ones of the previous program; - percentage discount of yearly scholarship, if any and if still applicable, will apply to the new monthly tuition fees for the remaining duration of the scholarship. (ii) except if you joined a Double Degree program through a second call process (please contact the Student Affairs - International Relations Office team for further information in that case)				
7. FINAL SETTLEMENT OF TUITION FEES	In the event of having exceeded the maximum amount of ECTS in coursework allowed in their MSc prog cf. 8. NOTES below), students will have to settle - prior to their thesis defence - the extra cost correspond <i>Extra cost = (number of ECTS in excess) × [ECTS monthly value of the student's MSc program (calculate</i> Should students have changed programs during their academic journey, the maximum amount of ECTS allowed as well as the E in.	ding to the ECTS in exce ed on a semestral basis,	ess, according to the following formula:)] × 5 months (= 1 semester)		

(*) These amounts are updated every year.

(1) Penalty fee for delayed thesis is due each time one of the 4 existing thesis deadlines is postponed (January, April, June & September):

Failure to deliver thesis in January will generate a penalty fee for delayed thesis in April.
Failure to deliver thesis in April will generate a penalty fee for delayed thesis in May/June.
Failure to deliver thesis in May/June will generate a penalty fee for delayed thesis in September.
Failure to deliver thesis in September will first generate a new registration fee and then a penalty fee for delayed thesis in January.

a) MSc in Economics: regular tuition fees allow students to register in courses / modules / workshops at CATÓLICA-LISBON up to 69 ECTS without any extra payment. To obtain the degree, students normally only need to register for 60 ECTS credits.

8. NOTES

b) All MSc (except MSc in Economics): regular tuition fees allow students to register in courses / modules / workshops at CATÓLICA-LISBON up to 67 ECTS without any extra payment. To obtain the degree, students normally only need to register for 60 ECTS credits.

c) Please submit your request online or contact the Student Administration and Records Office | Library Building - Ground Floor | sescolares@lisboa.ucp.pt | +351 217 214 000

